“SRAMEE
ETHDERTISMBETOKEIN20°CEBAZELT-,
ETCNDEATERBDAFEREETEINECLY, St2, 3. 5K T6

T50%Z T

a

S4FE9R821H8
KR ERNERFER (No.6)

LFELT-,

IR14RICEEL=AMEZENGARBRZEMoELET,

ETOERICEVNT,. RENSI5MBEET20°CEREB A F L=,
ETHOERAIZBVWT, FTAKYBHEMNSHLYZELT-,

ERBDBAFHBERFIEINECLGY, St2, 3. 5K UV6T50%ZFTMEY

=L7T-,

20074V EFZRAAEL ERITHTTEGYFELT,



MBI KiniEE

REEL KERTEZ—, KiniETh

#5A 2 (St.) 1 (GEE) 2GEK) | 3GRMHB) | 4RO | 5UWAER) | 6 (FEE)
gAEAH SI4F9H 148
&R 12:06 12:24 11:44 11:25 11:06 10:51
IKEE (m) 8.2 23.4 28.7 17.8 26.4 37.8
ZEHAE (m) 3.0 4.5 6.0 6.5 6.5 6.5
KE 9 7 7 7 7 7
KR (°C) EA= 24.6 24.4 241 24.0 235 23.7
2.5mfE 23.0 22.9 22.5 22.9 22.6 22.7
10m/B - 21.7 21.5 21.4 21.5 21.6
15m/B - 20.3 20.7 20.9 20.8 21.0
K2 21.2 19.1 18.7 20.5 19.1 17.4
) == 25.9 29.3 27.0 29.8 27.3 27.6
2.5mfE 31.8 32.8 33.0 32.9 32.9 32.7
10m[E - 33.7 33.5 33.6 33.7 33.7
15m/E - 335 33.5 33.7 33.6 33.7
KB 33.3 33.6 33.7 33.6 33.7 33.9
BIFRREATE(%) |XB 130.6 143.6 135.5 127.7 126.9 129.9
2.5mJE 136.1 134.3 131.4 122.9 125.1 122.3
10m/B - 103.1 96.2 93.3 98.3 99.9
15m/E - 66.8 72.1 86.7 82.2 93.8
KB 56.6 38.6 27.3 70.0 46.9 23.5




2]

-

St.1

I
?%@ﬁ#ﬁﬁ
| )

4

! rd
fy =~ .
- ¥ Kk
N iR o B
s
e~

ASt. A\

£ =l
4'
=ab 1=

BT 4

OB T (EHEHE)

X1 KMEZHREEREK

XSt.1MBSt.6 (O) ICEWTEREDEBICREBomMSEBE L1mD/KEZEAILT-,
StADSSE.D (A) [ZEWLWTREBOMASIKFELISMDKEZER L=,



A (m)

16.0
14.0
12.0
10.0

RIFE R A DR

= SH4AE9R

= SF3FEIA

St3THIER A KYSE

-St.3LLS THIER A KWELY

16.0
14.0
12.0
10.0

8.0

6.0 -
4.0 -
2.0 4
0.0 -

B A &M HLER

m 54598
%z SH4E- R

&
\ N
F e

N O\ A\ )\ =\
& S P

-EH R TRTA LYEN

X2 FEHREOLRBIERA. 7ITA)



St.1(GEE) 2.5mBNDIKE st.1(GEH) 2.5mEBODIES

e=f==H25 - RO3
33.5 /%
={fii=R04 i
33.0
&R 325 —W
W30

31:5 \ / . ¢=—H25-R03 -

v

31.0 === R04
T T T T T T T T T T T ) 30.5 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A
St.1(GEHR) EREDKE St.1(EHR) ERNDIES
34.0

==¢==H25 - R03

| 33.8
——R04 /' ——
33.6

KB (°C)

R |
\ o ﬁ/
4/{ B —4—H25-R03

33.0 == R04

4 5 6 7 8§ 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A

X3 St.1GEE)DKERUVIESDHEF

XSt 1L KFEIOMRK 7



25

20

15

Kig (°C)

st.2(GE/K) 2.5mBD KB

St.2(;E/K) 2.5mEDIE S

=¢—H25 - R03

~—R04

= anain

10 -

33.0 ?‘\ 7

®325 o
\ ®Waoo B

—~— 315 ¢—H25 - RO3 -
31.0 === R04 |
T T T T T T T T 1 30-5 T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A B
= N = | EE
st.2(GE/K) _15mBD KB st.2(GE/K) _1smBDIES
34.0
«=4=H25 - R03
33.8
——R04 p 4 ‘ 'T.
33.6 -ﬂ
K
\ 3 334 J
SR =4=H25-R03
33.0 == R04 =
T T T T T T T T T 1 32-8 T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A

X4 st.2GEK)DKERUNIESDHEF



st.3 (M 5) _2.5mED KR st.3(Mi¥S)_2.5mEDIESH

34.0
—4—H25 - RO3 -
~f—R04

33.0

\ &R 325 -
W30

-— 31.5 ¢—H25 - R03 -

31.0 —@—R04
305 4+
4 5 6 7 8 9 10 11 12 1 2 3 4 s 6 7 8 9 10 11 12 1 2 3
A A
st.3(HS) _15mED KR st.3(H5) 15mEDIES
——H25 - RO3 0
i 33.8
—B—R04 M
33.6 ﬁf
R334
\ mam d v _
: —4—H25 - RO3
33.0 =—R04
28 44—+
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A

X5 st3(EE) DK ERVIES DHEFE



st.4(MBDE) 2.5mBD KB

=¢=—H25 - RO3

~—R04

AN

——e

4 5 6 7 8 9 10 11 12 1 2 3

)=|
st.A(#BDH) 15mEBDIKE
e=@==H25 - RO3
—#—-R04

\N

10 11 12 1 2 3
A

4 5 6 7 8 9

340
33.5
33.0

& 325
®Wio

315
31.0
30.5

34.0
33.8
33.6

R

o 334
33.0

32.8

st.4(MBDE) 2.5mBDIESH

A4

¢=—H25-R03 -
== R04

9 10 11 12 1 2 3
A

st.4(3EDH) _15mEBEDIES

4 5 6 7 8

|—.4VF(/.¢.=‘<

of

=4=H25-R03

={i=R04

10 11 12 1 2 3
A

4 5 6 7 8 9

X6 StA(EDE) DKEBERVIESDHEF



st.5 (RSAIR) _2.5mEBD KR

=4=H25 - RO3

AN

4 5 6 7 8 9 10 11 12 1 2 3

A
st.5 (A R) _15mE D IKiE

\0

4 5 6 7 8 9 10 11 12 1 2 3
A

st.5 (fRAIR) _2.5mEBDIEH

X N

¢=—H25-R03 -

=i R04

4 5 6 7 8 9 10 11 12 1 2 3
A

st.5 (AT R) _15mEBDIE S

of

=4=H25-R03

== R04

4 5 6 7 8 9 10 11 12 1 2 3
A

X7 St5(FRAIR) DKERUNIESDHER



St.6(FBE) 2.5mREDK:B

=4=H25 - RO3

e \”

4 5 6 7 8 9 10 11 12 1 2 3

A
St.6(FBE) 15mEBMDKE
e=@==H25 - RO3
=i—R04

4 5 6 7 8 9 10 11 12 1 2 3
A

st.6(/FEE) 2.5mEBDIESH

o

N

4= H25 - RO3 -
~—R04

4 5 6 7 8 9 10 11 12 1 2 3
A

st.6 (FFEE) _15mE D& H

=4=H25-R03
= R04

4 5 6 7 8 9 10 11 12 1 2 3
A

X8 st.6(FEE) DKERUIESTDIHER



’I
i\
[}
RN
,'GRE t;ttg;z 1)

’

2.0 it A

3%E'- S KER
A } | \
O T (HSEHEREFX)

X9 REOMO/OOJ(IILE

XKEFTRELEETHY., EHGEETIEHYFRE A ERDOHEIHIGELERELTIF
RSN (AZFELOLTORRIETEEEA)



‘ 8.1 l' 2.5m4

IR

I
AR AP B
R (I 1)

4

: ~ ; S eiWs
E s 1-1 Loy ﬂ_

S FER A
i } | \
O TR (JfCEEE X))

10 2.5mE@O7AO0J/0)LE

XKEFTRELEETHY., EHGEETIEHYFRE A EROHEHIGELERELTIF
RSV (AZFE D TOERIETEFEA) -



2]

3 15m|

‘ -
|

IR

I
AR AP B
R (I 1)

4

e ll ; )

R FER A
7 } ' \
O TR (JfCEEE X))

X11 15mEN /0074l

XKEFTRELEETHY., EHGEETIEHYFE A ERDOHEIIGELERELTIF
ALESW(AZFEVTOLRIITEFEA) o SLLUFKERKFI8MTLT =,



